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1. M.P. of water cooler = Rs. 4650
Discount = 18%

S.P. of water cooler = (

82 « 4650 = Rs.3813
100

100-D% 100-18

100

) x M.P.= (21%) x 4650 =

2. M.P. of sweater = Rs. 960
S.P. of sweater = Rs. 816
Discount = M.P. — S.P. =960 — 816 = Rs. 144

Discount% = —— x 100 = =% x 100 = 15%
M.P. 960

3. Selling price of shirt = Rs. 1092
Discount = Rs. 208

M.P. of shirt = S.P. + Discount = 1092 + 208 = Rs. 1300

Discount% = —— x 100 =22 x 100 = 16%
M.P. 1300

4. S.P. of toy = Rs. 216.20
Let M.P. of'toy = Rs. 100
Discount = 8% of Rs. 100 = Rs. 8
S.P. of toy =100 — 8 = Rs. 92
If the S.P. oftoy is Rs. 92, M.P. = Rs. 100

100

If the S.P. of toy is Re. 1, M.P. = Rs. o

If the S.P. of the toy is Rs. 216.20 = -2 X 216.20 = Rs. 235

5. S.P. of tea set = Rs. 528
Let M.P. of tea set = Rs. 100

Discount = 12% of Rs. 100 = % % 100 = Rs. 12
S.P.ofteaset=M.P.—-D=100-12 = Rs. 88



If the S.P. of tea set is Rs. 88, M.P. = Rs. 100

100

If the S.P. of tea set is Re. 1, M.P. = Rs. pvy

100

If the S.P. of tea set is Rs. 528, M.P. = vy X 528 = Rs.600

. Let the C.P. of goods be Rs. 100

M.P. of goods = 100 + 35% of Rs. 100 = 100 + 35 = Rs. 135

S.P. of goods = (IOO_D%) XM.P.= (100_20) X 135 = — x 135 =
100 100

Rs. 108

S.P.>C.P.
Profit=S.P. - C.P. =108 — 100 = Rs. 8

Profit% = — x 100 = —— x 100 = 8%
C.P. 100

. Let the C.P. of cell phone = Rs. 100
M.P. of cell phone = 100 + 40% of Rs.,100.= 100+ 40 = Rs. 140

S.P. of cell phone = (1°°_D%) X M/Po= (10100_030) X 140 = %)O X 140 =
Rs.98
C.P.>S.P.

Loss=C.P.—-S.P.=100+92 =Rs. 2
L0ss% = —— x 100 = == x 100 = 2%
C.P. 100

. C.P. of fan = Rs. 1080

Gain = 25%

S.P. of fan'= (1°°+P%) X C.P.= (100”5) x 1080 = 122 % 1080 =
100 100 100

Rs.1350

et M.P. of fan = Rs. 100
Discount = 25%
100-25

S.P. of fan = (100_D%) X M.P.= ( ™
If the S.P. is Rs. 75, M.P. = Rs. 100

If the S.P. is Re. 1, M.P. = RS.%

If the S.P. is Rs. 1350, M.P. = % x 1350 = Rs.1800

)x100=£>< 100 = Rs.75
100



9. C.P. of refrigerator = Rs. 11515
Gain = 20%
SP.of fan = (<) x €. P.= (<o) X 11515 = 2 x 11515 =
Rs.13818
Let M.P. of refrigerator = Rs. 100
Discount = 16%
SP.of fan= (F5-22) x M. P.= (*522) x 100 = = x 100 =Rs.84
If the S.P. is Rs. 84, M.P. = Rs. 100

100

If the S.P.isRe. 1, M.P. = RS'8_4

If the S.P. is Rs. 13818, M.P. = % x 13818 = Rs. 16450

10.C.P. of ring = Rs. 1190
Gain = 20%
SP.ofring = (*52) x €. P.= (101‘)0*020) x 1190 = 22 x 1190 =
Rs.1428

Let the marked price be Rs. 100
Discount = 16%
. _ (100-D% __ [100-16 _
S.P. of ring = ( = ) x MP.= ( = ) x 100 = Rs. 84
If the S.P. of ring is-Rs. 84, M.P. = Rs. 100
If the S.P. of ring.is Re. 1, M.P. = Rs. %

If the S.P. oF fing is Rs. 1428, M.P. = == x 1428 = Rs.1700

11.Let the C.P."be Rs. 100
Gain =20%

SP.= (1°°+P%) X C.P.= (1"0“7) x 100 = Rs.117

100 100
Let the marked price be = Rs. x

Discount = 10%

Sp. = (0D%) gy p = (MO0 o — g 20
90x

100

=117



117

=—x1
X 90 00
x =130
M.P. =Rs. 130

Difference in M.P. and C.P. =130 - 100 = Rs. 30
Required percentage = % x 100 = 30%

12.Let the C.P. be Rs. 100
Gain = 8%
S.P.= (10‘1’35%) X C.P.= (12‘(’;8) x 100 = Rs. 108
Let the M.P. be Rs. x
Discount = 10%

_ (100-D% _ (100-10 _90x 9x
S'P'_( )XM'P'_( 100 )Xx_loo_ S-T0
9x—108
10

—108><10
=7
x =120

Difference in M.P. and C.P. =120~ 100 = Rs. 20
Required percentage = % X 100 = 20%

13.M.P. of TV = Rs. 18500

S.P.of TV = 18500 (1 — ﬂ) (1 — i) — 18500 x 2% x 2% — Rs. 14060
100 100 100 100

14.Let theeM.P. be Rs. 100
SP. = 100(1—f—°)(1—i) =100 x> x5 — Rs. 76

00 100 100 100

Single discount = (100 — 76)% = 24%



